
PRETEST NIVEAU 2 
 

(10 minutes) 

 

Nom et prénoms :  
 

Classe :  
 
 
 

1- Ecris le nombre qui convient dans  
 

le .  
 

 

a) 23 + 45 = 
 
 
 

 

b) 13 + 15 + 17 =  
 
 
 

 

c) 69 – 36 =  
 
 
 

 

d) 52 – 26 = 
 
 
 
 

2- Ecris l’opération correspondante.  
 
 

3+3+3+3=               ✕  
 

 
 
 

3- Ecris le nombre qui convient dans  
 

le .  
 

 

a) 3 ✕ 21 =  
 
 
 

 

b) 18 ✕ 4 =  
 
 
 
 
 

c) 69 : 3 =  
 
 
 

 

d) 56 : 7 =  
 
 
 

 

e) 88 : 7 =  

 
 
 
 
 
 
 
 
 
 

NOTE : / 10 


